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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2.  Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3.  For the Objective type questions, you have to choose any one of the four alternatives given in the
question, i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

5. Answers for all questions, including Matching, True or False, Fill in the blanks, etc., are to be given
in the Answer-Book only.

6.  Write your Question Paper Code No. 68/ ACV /O-A on the Answer-Book.

7.  In case of any doubt or confusion in the question paper, the English Version will prevail.
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COMPUTER AND OFFICE APPLICATIONS
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(631)

Time : 2 Hours | [ Maximum Marks : 40
| : 2 90 ] [ dguties : 40

Note/fe9r:  All questions are compulsory.
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Answers of all questions are to be given in the Answer-Book given to you.
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15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the students will read the question paper

only and will not write any answer on the Answer-Book during this period.
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Fill in the blanks : 12x12=6
e T ) o T
(a) Primary storage device is volatile in nature since its contents are accessible
only as long as the computer is on.
Wefier SR SUHT 3TfeeR Yhfd 1 B § FIfch SHeh! AT haldd q91 T &l
GAY Bl & ST ek e =] Tl 7 |
(b) The function of the is to perform all calculations and comparisions based

on the instruction provided.

o1 e fou o e o R W gt ToEd SR qEd R ¥

() The main purpose of an system is to manage computer hardware and
provide a user Interface.
L&D o= &1 7= 399 e TSI H JoEA LAl IR TRl geihd
HEH T €

(d) Shortcut key used for the Paste command is
U= HHiE & oIy Fe wEshe gt 7

(e) By default a workbook opens with 3 worksheets and it can contain maximum upto
number of worksheets.
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(f)  FTP or File Transfer Protocol is an utility software used to upload and
download files.

T 3 o A1 FEA IR GIeihid Th IYANT GifeaeR & TSent Su=i wiEal ol
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(8) refers to a program which disrupts normal functioning of your computer.
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(h) The E-mail address provides all the information required to get a message to the
from anywhere in the world.
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FIA L |

(@) is the service that allows individuals and organisations to make their website
accessible via the Internet.
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G) registration is done to protect a company name or trade mark.

TsfteRor fendl shoeT o T A1 SSHTE i HRET % ferg feman S ©1

(k)  For printing a presentation, select Office button — command on the menu
bar.
Ysiev[ fie & o fau 7 9 W Office e — FHHIE H FTIT R |

() In MS Access, a serves as a container for objects like tables, forms, queries
and reports, facilitating efficient data management.
TH U9 TRE §, Th o, Wi, Fas SR U S sifesaeyd o fag e ek
F &G H H FHAT § S FIA S FoieA 1 Gaen JSH L §

2.  State True or False : 12x12=6
TE /T SRy

(@) An operating system acts as an Interface between users or application programs and
the computer hardware.

SRS faen SwirTehatetl a1 Tehs TmM 3R H@eX FEaeR & i U 3e0hd & &9
H e e ¥

(b) ROM stands for Read Only Memory and it stores an initial program called Bootstrap
loader.

HR-3T-TH (ROM) 1 Tacdl € et HHRI § 3R I8 Je&ey e A YRIEH TR i
ERHA B
(c) Hard Disk Drive is an example of secondary storage devices.
e fewn g1Ea fadae Heror SUTvl & STl & &9 H |
(d) WAN stands for Wireless Area Network.
T T TA (WAN) Tl Ao aRRe™ TRAT e T
(e)  Fibre Optic Cables are not affected by electromagnetic radiations.
HEeR ATk shelel forgd grarentd faferton @ guiford =18 & |
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(f)  Excel offers various types of charts, including Pie charts, Bar charts and Scatter charts
to visually represent data.

TR fafy= TR & =1 YeM w1 8, 9 S1er Sl 9% ¥ 9 9 TRd i & o uE =918,
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(g) The ‘Memo’ data type in Access is suitable for storing large text or memo data.
TG T T S YRR, oS TR 1 Bl 12 Sl WU i % fo Suge €
(h) DSL, Leased line and Dialup are types of Viruses.
Sl T Td, il oz 311 S/ 379 9y & TR B |
(i)  Website planning is the least important part for building a website.
JoERS T & TeTT JaETEe Y A1 S G FH Hew vl Eed ¥
(j)  Website is a collection of documents written in HTML.
JoERe T A TH TA (HTML) H fae T <&rersii &1 T 998 |
(k)  You get a domain name from a Domain Name Registrar.
3T A 9 AR F S8 19 foern 71
(I)  UTP stands for Unshielded Twisted Pair.
3 o Taed § - Aieee faaes TR

3.  Define the following : 1x4=4
frefafad =1 aftfig sRifse
(a) Plotter
LR
(b) Copying Text
TS i e s
(c) Wide Area Network
q1ES TR A2aeh

(d) Components of Website
eSS & HH

4.  Write short notes on any three of the following : 2x3=6
frfafed # & feredl @ W Hfara foafor fow
(a) Advantages of Internet

TS ok Y

(b)  Benefits for Domain Name Registration
ST TH TS0l o e
(c) Logical operators in MS Access
TH TH TR H dliheh 3T
(d) Open Source Software
A9 1 W=
(e) Slide Layout
TS S
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5.  Differentiate between the following : 1+1=2
frefafea 4 ofa w98 SIS
(a) Twisted Pair cable and Optical Fibre cable
feoee TR Fhaa iR sAffesha HEeR Had
(b) Header and Footer

iiven iR gt

6.  Answer the following questions : 2x5=10
e ford w9l o S e
(a) What factors influence the efficiency and reliability of data communication ?
ST HAR I S&7a1 SR fovaeiad 1 M 9§ Fe Jufad Hid 8 2
(b)  Explain Transmitter and Receiver used in Data Communication.
BT R § g ZigHie 3Tk Rfter &t =men wifsw |
(c)  Write the steps to create a Bulleted list.
el Gl oM o =Rl fafa |
(d) What are the various types of Web Hosting Services ?
e BT Fenail o fafv= wehr = € 2
(e) Compute the result for the following :
FefefEd & fog qiemd i Tom HifST

(i)  If cell A9 contains the value 50 and cell B9 contains the value 10, what is the
result of the formula ?

= (A9*2) +(B9/2)
Ife I A9 H T 50 ¥ 31k ¥a1 B9 H W 10 T A T 1 URomg =1 § 2
= (A9*2) +(B9/2)
(i) Cell A10 contains the value 120 and cell B10 contains the value 3, what is the
result of the formula ?

= A10/(B10—1)
I A10 H A 120 T R ¥t B10 H 9 3 ¥ 1 39 G 1 UROMT 91 7 ?
= A10/(B10—1)

7.  Answer the following questions in detail : 3x2=6
e gl o S forr & S
(a) Describe the key properties and benefits of Computer Network.
HPE ATk o @ TN AR ATH T AU B |
(b) Describe various slide views.
fafi= wrge g9l &1 9 |
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